Giving Items free

Concept Lecture -5




A fruit vendor give{ 3 fruits free)for a dozen.

What is the percentage discount allowed?
UF G fadhdl T ol W 3 Bl {F

& §] FF I % AT ]? 9
a) 25% (b)20%
c)16.66% d) none
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A trader offers 20% discount and gives

L_?()Og extralforla' kgy What is the total
discount percentage offered?

UF Bl fa%ar 20% T aar § IR
1 fFeY & WY 200 TH IV

52_5—1 2 ¥ T fre R A o A
2 T w2
a) 50% b) 40%
@33.33% d) 25%
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A fruit vendor sells fruit{60% above cost price)
but he offers 3 fruits free for a dozen. What is
his profit percentage? I

Th G fahdl ®ell F FHT F 60%
3F & d9ar ¢ 3K 1 o F W 3 Ha
P AFT A AT | IHHT AT % FAT FH?

a)25% 28%
c) 30% d) 32%
£




A fruit vendor sells fruit at 50% above cost
price but he gives 200g fruits free for 1 kg.

What is his profit percentage" lODojvw
6 gFEER Wl H FHeT T 50%
5“ mﬁm#ﬂw%wuga?mzrzoom
§Z - N ol AFT T §| IHFT A % FAT gHM?
"'%9?5 a) 16.66% b)20%
£ (P25% d) 30%
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A fruit seller gave 3 bananas free with

‘every dozen'and he also allows a discount

of{. to his regular customers. Find
the net discount % offered by him to a

1
regular customer who bought

of bananas.

Th B Qehdl o & ol & T 3
¥ qFd Fr AR g7 3w fafaa
mq#ZZZZ%a?rB‘Caﬁa?IT%I
mmmﬁaamrm% &

a,—a Eﬂ? "3
a) 50% @33 33%
c)47.22% d) None
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Mr. mirinda went out buy some fruits, after bargaining
_9cy. for a long time, the fruit vendor offered various
)6 discounts. Which of the following is the best offer for
{' Mr. Mirinda?
~§/ffgetting 30% discount
> JPYgetting 4 fruit free for a dozsn.
J_'gx'_ X | S| 5_|q ‘gfgetting 2 fruits free for a dc:;%én & 15% discount
L1 7 W getting 3 fruits free for a do’z‘en and 10% discount
¥} all are same
“ g AATT ARET 98T Bl @lee AT, FF I dF A
——XL-36R \ T A & 916, B FAhar 7 39 FF Hed |
S0 oy fe A @ FlT o et e 87
5 a) 30% &<
b) 1 &olel T 4 Hel HFA
¢)1 ol T 2 Fel JFd AR 15% A B
d)1 ESieT 9 3 &l AFA 3R 10% #r ge

e) 9 HIHA &
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A tradesman give 4% disc on
the marked price and Cg—ives 1
article free for buying every 15
articleBand thus gains 35%. The
marked price is increased above
the cost price by
tF AR & RffaT go7 W
4% e & ¢ 3R 15 =g
g W 1 ard A% Frac
A Fa1 § 3R 37 IR 35%
AT YIS AT g1 qa1sv
3fhd AT T e ¥ forast
yfaera samer 32
a) 40% b) 39%

50% d) 20%
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@ fruit vendor offers 20% discount on
fruits. More over he offers 4 fruits
free for a doze@ still he gets 20%
profit. Find the markup percentage?
UF G [Ahar 20% # T T &
3R 1 g B F @YU 4 G s
AFT a1 § 6T 8t @® 20%
S FAT ¥ FAX A T HeF
w007 ¥ frast o s 82

a)60% b 75%
c)80%  (d))100%
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A seller marks up his articles 40% above cost

79 price but he gives@items free with every
1

dozen. If he gains 20% in this process, find the

6,( 6 P id value of x?
= —(an wwﬁﬂ»—crrarq?harcraﬁ W HFT AT @
7 7 e maﬁmm%ma@w

golel & WY x TEIE HFT &a & IR
sva’kmm%amm%a’rx :mrrr
CLIEL

a)1 @2 03 d) 4
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A video magazine distributor made 3500 copies of the
march issue of the magazine at a cost of Rs.3,50,000.
He gave 500 cassette free to some key video libraries.
He also allowed a 25% discount on the market price of
the cassette and gavcassette free with every
29 cassette |bought at a time. In this manner, he was
able to sell all the cassettes that were produced. If the

market price of a cassette was\Rs.150) then what is his

(gain or loss_percent) for the march issue of video

magazine?

TF ifsAl dAwella Rars F A F 3% i 3500
m350000$#m|m5009ﬁmm
# afc QafFat W IES 3 T AT W 25%
# g § aur & 29 v W 1 9 HqwT &
W oWE @ 38T T 9faE &9 & IR T 9y
F HfPa AeT 150 § 8, @ AT F 3F H WS
T AT g % g7

}f 25% loss 10% gain
7()_40% gain d))6.8% loss
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A shopkeeper sells a badminton racket

whose marked price is Rs.30, at a

MPz 50 discount of 15% and gives a shuttle

-u.s lo'/= 2 costing Rs.1.50 free with each racket.

~— 5Sy=|.s Eventhen he makes a profit of 20%. His

Sp= <5.85 /§K=”-S;:t%ra5;%§gs'm N
R S

/\ et Rffaa g7 30 WU g,

15% # g W IR A% We &

3‘1 1.5 T 1.50 39 HAT T AT YT

“ Il 21 Y ot ag 20% &1 o

CPx & - ay HATTT &1 e AN Hed i e
forasr T4 &7

) a) 21 b) 21.25
0 d)17.75
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A trader sells rice at 25% above C.P, he adds
20% impurities and uses{20% smaller) weights
than usual. To impress customers he gives 200gm
free with every 1000gm and also offers a dlscogn
of 40%( what is his profit or Toss percent?)

TF AT 20% FT AAEC aWE AT @
259% 31® & gad d°ar ¥ 3R 20% B
qotel FEAATT FIAT & | ARH P o F
foT ar 40% T ST dUT W 1000 “aw ¥
marzoo TH HET AT ¥ | IEHN A0 AT

Yo qATA?
@ .25% b)40%  ¢)10% d)13.6%




By selling 100 pencils a shopkeeper gains the
selling price of 20 pencils. His gain % is:

100 9« SEHT UF HEGR 20 U
¥ fOFT AT F a1 FAGT B 3HET

oTHY %:
|00 P=20 SP @25% b) 20%
0) 15% d) 12%

P2 b
P e 5 O35y,
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By selling 33m of cloth Ramesh gained the cost
price of 11m. The gain % is:

33 #HleT FUST g AT aF 11 HeXx Fu3
F A0S e F1_ATH FAIT ATHY o

a) 10% (b))33.33%
c) 25% d) 50%
P _
o 353




By selling 36 oranges a vendor loses the selling
price of 4 oranges. His loss % is:

36 U 994 A UH Qohar & 4 TR &
AT #Aeg § TR gifa adr &1 33«

26 L=YSP T o0 &

1
L _ H_ a)12- % b) 116%
- - 00/ d)N
SP 36 @ 0 one
IQ'/'

CP= Uo




12 copies of a book were sold for
thereby gaining cost price of 3 copies. The cost

|2 P= %CF price of a copy is:
TH q¥ds 67 12 9faar 1800 % & I IS,
P_ 3 R 3 fadl & AN Aed & U o
cp 12 gHTI A UF SRy FT AT HeT AT FL
(a)Rs.120 b) Rs.150
| 5 ¢)Rs. 1200 d) Rs.1500
Lg% |2
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On selling 17 balls at Rs.720, there is a loss
equal to the cost price of 5 balls. The cost

|7 L-'-' 5CP price of a ball is:
17 &Y &Y Rs.720 H 94 W, 5 I F
L. 5 AN Hed & aUeY g g @1 ar
wp 17 i g % AT HeT B AT W
a) Rs.45 b) Rs.50
Sp= 12 (c)Rs.60 d) Rs.55
IR0




Ehe profit obtained when 60 chairs are sold is

60 P-" ('1 GC’P equal to the cost price of 45 chairg What is the

P _ Q/P Z percentage profit obtained/ when 21 chairs are
C/P - 6—6’ (! given free with the sale of 77 chair@

60 FTHA F I W gred oY 45 HRAT

| T AN AT & & ¢ 77 FEAT A

= :}} ! foshr & @y 21 A qFT BT o
— X =" §4%2 fraar gfaera &t grea ghem?

1 o g a) 27.5% b) 32.5%
/I"T)\ (c)87.5% d) 40%




A customer asks 24% discount
and trader agreed to it but
instead of 1 kg he gives 5% less
sugar. What is the effective
discount that the customer gets?
U&h ATgeh 24% T deT ATgdl
¢ 3R = ggAd & arar @
Afrer 1 Fam Fr s a7 5%
FA el a1 § AGE &

a) 25% @20%
c) 15% d) 16.67%
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A shopkeeper sells bed sheets for Rs. 320 each at a
profit of ;ﬁ% He gives one bed sheet free on a
purchase of four bed sheets. Sunil needs@oed
sheets whereas Piyush need How much will
they save, if they purchase the bed sheets together
rather than separately?

T GHEGR 24% & A W I3 35 i H
320 ¥. W d9aT ] 9% 9K a5 ofic fr @l
W T 9% M qFd g & Folla A 7 d=2fe
N TN § 99 F RNy F1 8 asefie i, IR
q I AT Y I TF 1T I3 @l
g, d 3% _fhaer 39T 1 I9a ghil?

a) 480 @szo c) 960 d) 640

| GP | 21



	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21


